Practice Test -17-




1.
What are the solutions to the quadratic equation 
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	 A.  3, 6

	 D.  4, 9

	 B.  6, 6
	 E.  -4, -9

	 C. 3, 12
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If for all x and y, 
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	 E.  undefined

	 C.    
[image: image7.wmf]x

y

+

2


	


	3. For all 
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	 A.  
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	 C.    
[image: image14.wmf]8

+

x


	


4.  What is the value of the expression 
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	 A.  
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	 B.    
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	 E.  
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	 C.    
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5.  If 
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	 A.  
0
	 D.  25

	 B.    4
	 E.  no solution

	 C.    9
	


6. For all 
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[image: image26.wmf]x

y

x

10

5

2

4



	 B.    
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7.  If the ratio of 4 to b is 5 to 7 then b = ?

	 A.  
3
	 D.  16

	 B.    
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	8. Simplify 
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	9.  Simplify 
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	 A.  
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	 E.  
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	10.  Which equation best describes this graph?
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11.
For all B and C and A ≠ 0,  if 
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	12. Simplify 
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	 A.  
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	 C. 
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13. If 25 is subtracted from the square of a certain number b the result is 11.  Which of the following equations determines the correct value of b?

	 A.  
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14. For all x, 
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	 A.  
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15 If the reciprocal of a certain number x is added to 
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 the result is 2.  What is x?

	 A.  1

	 D.  -2

	 B.  2
	 E.  -3

	 C. 3
	


16. Find the value of 
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	 A.  12

	 D.  48

	 B.  24
	 E.  60

	 C. 36
	


	17.  Which equation best describes this graph?
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	 A.  
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	 B.  
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	 C. 
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18 In the standard rectangular coordinate plane find the distance between (-3, 4) and (2 , -8).

	 A.  12

	 D.  144

	 B.  13
	 E.  169

	 C.  25
	


	19  For all x, 
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20 For all 
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	 A.  
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21. For 
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	 A.  
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22.
If x = -2 and y = 5, what is the value of the expression 2x3 – 3xy ?

 A.
14

 B.
46

 C.
54

 D.
-46

 E.
-54

23.
What are the solutions to the quadratic equation x2 – 2x = 48?

 A.
-12, -4



 D.
-6, 8

 B.
-8, -6



 E.
-8, 6

 C.
6, 8

24.
For all x  ±3, 
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25.
Which is the complete factorization of 
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 E.
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Answers of Practice Test -17-
1.
C
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A
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B
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B
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D

13.
E or B 
14.
A

15.
C

16.
C

17.
A

18.
B

19.
E
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E
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C
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A
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D

24.
D
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C
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